levgen Murzak (University of Houston, Texas)

Solution:

It has been a challenging problem for finding such sequence by hands. So | wrote a code
that checks all possible combination of jerseys used from pi. It turns out that there are 12
different sequences that exist with the conditions specified in the assignment. Starting from
82" position in pi sequence of digits the code terminates and it is impossible to add new
jersey to existing ones.

That is how they look like:

31415926535897932384626433832795028841971693993751058209749
4459230781640628620899  digits used = 81 numbers from jerseys used = 45

31415926535897932384626433832795028841971693993751058209749
4459230781640628620899  digits used = 81 numbers from jerseys used = 45

31415926535897932384626433832795028841971693993751058209749
4459230781640628620899  digits used = 81 numbers from jerseys used = 45

31415926535897932384626433832795028841971693993751058209749
4459230781640628620899  digits used = 81 numbers from jerseys used = 45

31415926535897932384626433832795028841971693993751058209749
4459230781640628620899  digits used =81 numbers from jerseys used = 45

31415926535897932384626433832795028841971693993751058209749
4459230781640628620899  digits used =81 numbers from jerseys used =45

3141592653589793238462643383279502884197169399375105820974
9445923078 1640628620899 digits used =81 numbers from jerseys used = 45

31415926535897932384626433832795028841971693993751058209749
4459230781640628620899  digits used = 81 numbers from jerseys used = 45

3141592653589793238462643383279502884197169399375105820974
94459230781640628620899 digits used =81 numbers from jerseys used = 45

3141592653589793238462643383279502884197169399375105820974
94459230781640628620899 digits used =81 numbers from jerseys used = 45

31415926535897932384626433832795028841971693993751058209749
4459230781640628620899 digits used = 81 numbers from jerseys used = 45

31415926535897932384626433832795028841971693993751058209749
4459230781640628620899 digits used =81 numbers from jerseys used = 45



